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QUESTION 1

In which order do LogicalHandlers and SOAPHandlers configured on a Web Service endpoint execute on an incoming
message ? (Choose one) 

A. SOAPHandlers in the order specified in configuration are executed first and later the LogicalHandlers specified in the
order get executed 

B. LogicalHandlers in the order specified in configuration are executed first and later the SOAPHandlers specified in the
order get executed 

C. All the handlers are executed in the order specified in the configuration 

D. All the handlers are executed in the reverse order specified in the configuration. 

Correct Answer: A 

 

QUESTION 2

XML Signature and XML Encryption provide the foundation for message level security in Web services. Which
statement about XML signature is NOT true? 

A. use detached signatures, where the digital signature covers sibling elements or external data 

B. use enveloping signatures, where the digital signature element encloses the data to be signed 

C. use enveloping signatures, where the digital signature is a child element of the data to be signed 

D. use enveloped signatures, where the digital signature is a child element of the data to be signed 

Correct Answer: C 

 

QUESTION 3

Which three statements are true about JAXP APIs? (Choose three.) 

A. They are a part of Java SE 6. 

B. They allow Java developers to access and process XML data without having to know XML or XML processing. 

C. They do NOT support validation of XML documents against schemas. 

D. It supports the Streaming API for XML. 

E. It requires the Streaming API for XML. 

F. They provide developers with a vendor and parser-implementation independent API to process XML. 

Correct Answer: ADF 

 

1Z0-897 Practice Test | 1Z0-897 Exam Questions | 1Z0-897 Braindumps                                2 / 7

https://www.pass4itsure.com/1Z0-897.html
https://www.pass4itsure.com/1Z0-897.html
https://www.pass4itsure.com/1Z0-897.html


https://www.pass4itsure.com/1Z0-897.html
2021 Latest pass4itsure 1Z0-897 PDF and VCE dumps Download

QUESTION 4

A Java EE application contains business logic composed of EJB beans. All current clients are Java applications
accessing the business logic using RMI. Some clients are remote (running in different JVMs) and some are local
(running in the same JVM). Which of the following two occur if EJB components are exposed as Web services?
(Choose two.) 

A. New client applications can be built using the published WSDL to access existing business logic 

B. Current remote clients must switch from RMI to web service access. 

C. New remote clients can access business logic using RMI or web service access 

D. New local clients must access business logic using only RMI 

E. New clients must only be written in java to access business logic 

Correct Answer: AC 

 

QUESTION 5

Given the class: 

Choose the option that describes what would happen if this class were deployed (Choose one): 

A. Any HTTP GET or POST request with the URL "/resource" would result in a call to getName(). 

B. Any HTTP GET or POST request with URLs that begin with "/resource" would result in a call to getName(). 

C. A runtime error would result, since a method cannot be responsible for both GET and POST requests. 

D. A compile error would result, since a method cannot be responsible for both GET and POST requests. 

Correct Answer: A 

 

QUESTION 6

Choose the option that best describe the deployer\\'s choices, when deploying an EJB that is also exposed as a
RESTful web service using JAX-RS (Choose one): 

A. The EJB can only be deployed to a web container, since RESTful access to the EJB requires a web container to
support the HTTP interaction needed. 

B. The EJB can be deployed to any EJB or web container that would support local references to the EJB from the JAX-
RS runtime in the ejb container. 
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C. The EJB can be deployed to any EJB or web container that would support local references to the EJB from the JAX-
RS runtime in the web container. 

D. The EJB can be deployed to an EJB or web container that is visible to the JAX-RS runtime, even on an application
server separate from the JAX-RS runtime, since EJBs support local or remote interactions via RMI. 

Correct Answer: C 

 

QUESTION 7

Where can a developer specify confidentiality or integrity constraints on communications with a Enterprise Bean
exposed as a JAX-RS root resource?(Choose one) 

A. As annotations on the EJB exposed as a root resource. 

B. In the deployment descriptor for the EJB exposed as a root resource. 

C. In the deployment descriptor for the web application that is hosting the JAX-RS resource. 

D. In the vendor-specific configuration file for the container that is hosting the JAX-RS resource. 

Correct Answer: C 

 

QUESTION 8

Choose three ways to enable MTOM on a web service endpoint deployed in an EE container ? (Choose three) 

A. enabled by the container automatically 

B. by specifying @MTOM annotation on the endpoint\\'s class 

C. by specifying in webservices.xml deployment descriptor 

D. by specifying a wsoma:MTOM policy in WSDLE. by specifying element in sun- jaxws.xml 

Correct Answer: BCD 

 

QUESTION 9

An engineer is studying the architecture of the JAXB implementation. What are three components in its design?
(Choose three.) 

A. Schema compiler. 

B. Built-in SAX parser. 

C. Schema generator. 

D. Built-in DOM parser. 

E. Binding runtime framework. 
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F. Schema interpreter. 

Correct Answer: ACE 

 

 

QUESTION 10

An MTOM optimized infoset+attachment on the wire for a large binary data saves around X% in size when compared to
original infoset, where X is: (Choose one) 

A. 10% 

B. 20% 

C. 30% 

D. 60% 

Correct Answer: C 

 

QUESTION 11

A developer is writing a Web service method that needs to accept multiple types of requests. Based on the request\\'s
content, the service performs time-consuming steps, such as verifying the user\\'s account, checking credit ratings, and
building a list of offers. Which two approaches are appropriate to use in this situation? (Choose two.) 

A. A synchronous, document-style approach. 

B. A synchronous, procedure-style approach. 

C. An asynchronous, document-style approach. 

D. An asynchronous, procedure-style approach. 

E. HTTP and HTTPS. 

F. SMTP or other asynchronous protocol. 

Correct Answer: CF 

 

QUESTION 12

What would be the HTTP content-type header when a message is optimized using MTOM ? (Choose one) 

A. multipart/related 

B. text/xml 

C. application/soap+xml 
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D. application/xop+xml 

Correct Answer: A 
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